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In Slope-Intercept Form AND Point-Slope Form

1. Slope intercept form: _!4 2mx+b Point-Slope Form:_lg “Y)=m lﬁ'x')

2. Write an equation of the line in Slope-Intercept Form with a slope of —é and point (0,6).
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3. Write the equation of the line in slope intercept form that passes through (1, -4) with a slope of -5.
-5 =mx+b , '
m= -q...-g(l)fb ‘g:-gxﬂ l
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t=b

4. Write the equation of the line in slope intercept form that passes through the points (2, -10) and
(4; '4)
x VY

3 m-= - i'lo:_é’: (’,mx‘l'b
m = -2 2 y=34)+b \f ~3x b |
-1b -4 =12+b -

b —=— -16=b

5. Write an equation of the line that has an x-intercept of 8 and a y-intercept of -12 in slope intercept

form. (?tb) Lo ‘IIQ,)

m= ._Bé?_ m= 0412 12 _3
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b= 2

6. Write an equation in Point-Slope Form of the line that that passes through the point (4, 7) and has a

(4730

slope of 3 .

7. Write an equation in Point-Slope Form of the line that passes through the points: (-1, 4) and (2, 8)




8. Write an equation of the line that passes through the point (8, -3) and has a slope of 3 .

2
a. Write first in Point Slope: \ 5 +3= .%:. ()(-8) {

13- 3 x-12
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b. Now rearrange into slope-Intercept:

9. Write an equation of the line that passes through the points: (-12,5) and (-6, 2)

o Firct - = -2 ‘;._3-:'.‘— \ -‘L:-_L(X“")
a. Write first in Point Slope: -‘———1‘76 ‘e 2 \1 =

\y -
ed = -=% 3
y-2="3

b. Now rearrange into slope-Intercept:

Ly -l
T =X
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10. Write an equation for the linear function # with the given values. f(-1) =7,f(3) =3

("l l?’) (3.3)
a. Write first in Point Slope:

me 132 o [y3=-11e3) |

a3

(j- :'\X"’é
—

H:-‘X*"gl

\ o

b. Now rearrange into slope-Intercept:

11. Determine which form - slope-intercept or point-slope - would be the better (more efficient) method
of writing an equation of a line based on the information provided. You do NOT have to write the line.

a. m=2,point@ (-2,0) b. Two points @ (3,5) and c. Two points @ (-4,7) and
(Or6) ('112)
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12. Write an equation of the line shown.
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13. You and your besties decide to take a cross-country road trip to see Taylor Swift perform at the
Staples Center. 2.5 hours into your drive, you notice your odometer reads 20,000 miles. 1(Q hours later.¥

your odometer reads 20,750 miles. . 0 25+b=[2.9hrs
mw = 24 (2 > 2000 ) (IQ'S)ZD’YBO) Into the Anve
Ta. Wi‘ite an equation - in the form that makes most sense - to model the mileage as a function of the
time spent in the car.
m= 20150720000 __ Y- 20000=75(x -3.5) R Y- a0,750<75(x435)
25 — 2.5
b. What does the slope mean in the context of this problem?
you travel 75 mudey / how
c. How many miles had your car logged before you and your friend embarked on this road trip?
— ~ 0000 =75y - [87.5
‘ Y-int! Yy =00 X
/q,g/a.sommoj Y=75x + 19, 8/3.50
d. Up for a Challenge! How long will it take you to reach the Staples Center if its 1,740 miles from
your home in Chicago? 1
+19813.50 = J1557.
A1552.5 = 75x +/98/3.50 41554. 5

[[70= 7ox | 740 (distance)
3.2 hownd) R 7 = 33 2 howno
La h — 715 (SPG&OU (.hm&)




